FgArea: [0 ]
NC11 P3-8
2025-04-23 (Day 25)




Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]

3500

3000

2500

.
_+
—

EcFzExp
ECdef

water_ec

2000

1500

1000

Warning: col [ EcFgro’, 'EcPltng

'] is missing

500

50

75

100 125 150

2 % 2 0 X 2 X X 2

175



Plot [’ ECopt’]

3500 7 —@— ECopt

3000 -

2500

2000

1500 ~

1000

500 -

0 25 50 75 100 125 150 175



Plot Sensor and FgRec Data

0. 04 -

0.02

0. 00 -

-0. 02 ~

—0. 04 ~

——

dFVi
dFVo

5.0

7.5

10.0

12.5

day

15.0

17.5

20.0

22.5

25.0

2400

2300 -

2200

2100 -

2000

1900 ~

1800

- -
—_——

fz_stock_ec .

ECB*10%

ing: col

[’ ECC’ ]

is missing

5

day

15

20

25

6.6 7

6.4

6.2

6.0

5.8 1

9.6 7

——

PHB*10%

Warning: col

[PHC]

is missing

day

15

20

25

800 -

600 -

400 ~

200

——

DUC

- - - - Ill””‘..

5.0

7.5

10.0

12.5

day

15.0

17.5

20.0

22.5

25.0

500 ~

400 ~

300 ~

200 -

100

——

FRV

----./.

5.0

7.5

10.0

12.5

day

15.0

17.5

20.0

22.5

25.0

0. 64

0. 62

0. 60 -

0. 58 -

0. 56 -

——

FRC

-0 o O O — o —-—m_g,

5.0

7.5

10.0

12.5

day

15.0

17.5

20.0

22.5

25.0




400

300

200

100

30.0

27.5

25.0

22.5

20.0

17.5

15.0

12.5

80

70

60

50

40

2500

2000

1500

1000

500

3.0

2.5

2.0

1.5

1.0

0.5

1.2

1.0

0.8

0.6

0.4

Plot [["I", "lopt'],

[T, "Topt'],

['RH’, ’RHopt’],

['ETcl’, "optETcl’], 'LAI’,

" optEtRate’ ]

- V V\J\,\F I_\\n]A HVAVA n A:\.\V—\\ ——
and A\/“"\_/‘MMV\’\"\A — Lpt
pa M
A\ ,[“' I \d\/\“
A /
/ v
r\"\,\ : RHopt
(P
VVII
v
P \/Aﬂ u“u”\vh/”% ==
Vel '\
%
,</vf( N
N N
) /_/—_\ — LAl
/ ~
/ \
y /
A L
. N
r\'A‘ I optEtRate
A\ ¥ AN IWARY VAV
\ ! /v\ V v
! \ ik
!




250

200

150

100

50

Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]

tte

setVI_ETcl

setVIl_fgRec

sl|SetVI

35



1

1

1

0

0

2

2

1

1

1

1

3

3

3

3

2

2

2

Trend plot forP3-8 0

Warning: col ['minFVliraw , 'minFVOraw’ ]| is missing

minFVI
minFVO

. 04

. 02 ~

.00 -

. 98

.96

Warning: col [ ETcAlraw’, "ETcA1", "ETcA2raw’, 'ETcA2’]

is missing

—@— ETcA

1.0

0.2

0.4

0.6

0.8

0.8 -

0.6 1

0.4 -

0.2+

Warning: col ['ETcA2raw’, 'ETcA2avg’, 'ETcA2’] missing

0.0

200 -

000 ~

800 -

600 -

400 -

200 A

Warning: col
—@— ECopt

[’ ECC’,

"ECI’, "ECO’] is missing

Warning: col

[’ PHC',

"PHI', "PHO’] is missing

—@— PHopt

1.5 4

1.0+

0.5 -

0.0 -

9.5 -

9.0 -

8.5 A

Warning: col ['WCperMraw', 'WCperMavg'] is missing

—@— WCperM

.90 A

.45

.40 ~

.35 A

.30

. 25 A

.20 -

—@— minDeltaM
—@— avgDeltaM
—@— stdDeltaM

30 A

28 A

26 A

24

22 -

20 A

. 04 1

.02 1

adjFVOR

.00

.02 ~

. 04

Warning: col ["adjFVIRraw’,

"adjFVIR", (adjFVORraw' ] is missing

. 56 1

Warning: col

["FRA™]

is missing

58 A

56

54 -

52 A

50 -

48 ~

46

—@— beg wc

10 15

20

25

30

35

40

350 -

300 -

250 -

200 ~

150

100

50 ~

®
——
—Q—

postFgEtraw
postFgEtavg
postFgEt




FgDai ly

- 100

0.0 -

2.0 -

4.0 -

6.0 -

8.0 -

- 60

10.0 -

© 12.0 -

- 40

14.0 -

16.0 -

18.0 -

20.0 -

22.0 -



44




ETcP ETcldef ETcl

ETclis ETcPT

ETol ESo

ETbai

pR

T PPFD | pVPD

RH

| | 1
ETcl ETcldef ETcP ETcPT ETclis ESo ETol ETbai pR pVPD |

PPFD

RH

1.0

0.8

0.6

0.4

-0.2



ETcl

ETol

[ ]
800 ~ . ° . ® . ® .
[ ]
[ ]
600 -
400 -

200 -

1600 ~

1400 ~

1200 ~

1000 ~

800 -

600 -

400 -

22 A

20 A

18
16 1 ® ° 1@ PS ®
14 -

12 - T T T T - T T T
80 A -

70 -

60 - o o 1 o )

RH

40

400 ~ o °

e
300 ®* o o . )
2001 ®e . o °

100 ~ .

T T T T T T T
200 400 600 800 500 1000 1500 12.5 15.0 17.5 20.0 22.5 40 50 60 70 80 100 200 300 400
ETcl ETol T RH I




hour

105 -

:10 -

145 -

:05

:05

:05

:05

:05

:10

115

125

100

:00 -

80

- 60

- 40

20

’%‘% "/é 4 S




P3-8

BYiE) | GEBIATK (7)) | EBE (EA/HK) | XK R

07:05 200 130.0 5 FiH#e07:05 (FKRF1EEEE)
08:05 200 130.0 & FnHA@08:05 (KAL)
09:05 200 130.0 5 Fi#A@09:05 (FFfEEES)
10:05 200 130.0 & FiE@10:05 (KRF1EEES)
11:05 200 130.0 5 FnHfe11:05 (REERSS)
12:10 200 130.0 5 FiHfe12:10 (KRE1ERS)
13:15 200 130.0 & FiHAe13:15 (REAERHSE)
14:25 200 130.0 & FiHfe14:25 (KRR
23t]1600.0 (8:%) 1040.0 3 WHKEC: 2000.0, PH: 6.5

RE R B RECHIR TR K.
RER BB HREC/PHIEER K, FIRERIMIRELR SR



FRV (ml plant-1)

ET (ml/hr/plant)

P3-8_0, Day=25 (2025-04-23)

VI, Vo, ¥RV ET - VI, V0, FVI, FVO, FRV, ad jFRV, ET - 1000
0.8 4 802

- 500

0.2 A - 250
00 00 00

TargetEC=2300. 0, | TargetSetEC=2000. 0

TargetPH=6. 5, TargetSetPH=6.5

0.0

400

ByWoFv @D23 02:48: ET=802 Fg=1040.0 Ro=86.0

*——o L 1000

200
- 500

R S SRR 4 - | Sp—

1.0 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

ES ES 1= E3 ES ES 1= E3 ES E3 1= E3 ES ES 1=
0.8 4 8 g g i i g g i i g B A B B B A B B B A B B B A

0.6 1

0.4+

0.2~

800 {
600 -
400 -

200 -

30

"PPFD_obs’] is missing

\ A A Warhing:,‘:ol [Al

25 A

20 A

15 To-obs’ ] -is missing

- col[T-obs!

80 4

60

"RHo—obs’]—is missin

40 4 =——— RH —Warning:col["RH-obs",

0.6 1

0.4+

0.2~

00 T T T T
0.0 0.2 0.4 0.6 0.8 1.0

FRV (ml d-1)

cumET (ml/plant)



hour

:05

:05

:10

:05

:00

:50

:50

:00

:30

100

80

- 60

- 40

§_

25

e
%
/ége’
%,

—&6’

Y

2
%
.

%

25

N
%,
X
L e
N

4

2

%

&

£

&,

&

%
o
%

)
-

4@

&%‘ % )



P3-8

BrE) | GEBAK (3 | ERE (EH/R) (XS R

06:15 200 100.0 = {RRiB006:15 Fzh (RAEEE)
07:10 200 100.0 = RRi8007:10 Fzh (RAEESE)
08:05 200 100.0 & 1RiRe08:05 Fz (KRREERE)
09:05 200 100. 0 F  BRi&@09:05 Fzh (RAERERE)
10:10 200 100.0 S {Ri%e10:10 Fzh (RAMERSE)
11:05 200 100.0 5| Ri&e11:05 Fz) (REAERS)
12:00 200 100. 0 E BRige12:00 Fz1 GRAERERE)
12:50 200 100.0 S| {Ri%e12:50 Fh (RAEBSE)
13:50 200 100.0 = RRiB@13:50 Fzh (RFAEEE)
15:00 200 100. 0 E BRi&e15:00 Fz1 CGRAERERE)
16:30 200 100. 0 El BRi&e16:30 Fzh CGRAEREE)
23t 2200.0 (117%) 1100.0 3 IFKEC: 1900.0, PH: 6.5

EREBRTK (200) S5FREA (154. 0) R, FIREM T % @REIERS X XER

ZRIASLPRIERE130. 0 ml.
RE R i3k [B] RECEIB Hh ok

RER Bt HEREC/PHERRK, TTRESS

MR ELR R




FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

P3-8_0, Day=24 (2025-04-22)

] e e e e S g S - 1000
VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 869

50 - L 500
27
25 22 L 250

00 Warning: lcol [FVI',| "FVO’'] missing 4 o

— M_E

maxM

150 4 FRV
- 30

100 F—————— e e e e R A RN
L 25 <!

a1
o
1

- 20

1.0

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2300. 0,  TargetSetEC=1900. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.5

Warning: lcol ['PHB’,| 'PHC’'] missing

300 § Bylnit @D25 02:48: ET=924 Fg=990.0 Ro=118.0

- 1500

200 7 L 1000

o—o—o— I\
PN P R N B 0

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

S0T™hE | #8 | m | m | | W6 | M6 | W5 | #E | R5 | B% | R | B | e | e | mE | BE | BE | BE | RE | BE | B | BE | BE | 4500

100 A

T
a1
o
o

R (Y S T ——— : -

]
ByEt @24 18:40: ET=1025 Fg=1200.0 Ro=nan : o—@

200 7 L 1000

100 A

T
a1
o
o

0 & y o o o &
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
R i | B5 [ B [ B | HF | H f5 | H i B £ B B B £ B B B B B B B 5| 1500

I
ByWoFv @D23 02:48: ET=869 Fg=1100.0 Ro=110.0

200 7 L 1000

100 A

ET (ml/hr/plant)

:
¥
|
|

1.0 @

0.8

0.6

0.4+

0.2~

0.0
1500

—_— 4
[ ] | _obs

1000 - —@— PPFD obs

500 A

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



32 -

30 A

28 -

26

24 -

22 -

M_E

T
600

700
m=720,n FV0=0

T
800

30 A

28

26 -

——

M_E

720

7é5
m=600,n FV0=0

T
730

22.6

——

22. 4 -

22.2 A

22.0 -

21.8

M_W

600

605

610

m=510, FV0=0

27 A

26

25 H

24 -

23 -

22

21 -

——

M_E

510

5%5
m=810,n FV0=0

T
520

30 -

28 -

26

24 -

——

M_E

810

815
m=660,n FV0=0

T
820

24.0 -

23.5 A

23.0 A

——

M_W

660

665

670

m=600, FV0=0

30 -

28 A

26 A

24 A

——

M_E

T
600

T
605 610

25 A

24 -

23 -

22 A

MW

21

T
500

T
600

700
m=720,n FV0=0

T
800

25.0 -

24.5 -

24.0 -

23.5 -

——

M_W

720

725 730

21.

21.

21.

21,

21.

21.

21.

24

24.

24.

24.

23.

23.

23.

m=660, FV0=0

32 A

30 ~

28 -

26 -

——

M_E

T
660

6é5 6;0
m=510,m FV0=0

——

M_W

5%5 5é0
m=810,m FV0=0

75 A

50 -

25 A

00 -

75 -

50

25 -

810

815 820




hour

:00 -

105 -

105
105
105
:0
1 1 1 1 1 1 1 1
It ." ~
R

(53]

R

%
S
& &

100

80

- 60




P3-8

BYE) | GEBERTIC (B)) | EBE (BEAH/#K) | XS R

08:05 140 100.0 FA| {Ri%@08:05 Fz (KAMEEE)
09:05 140 100.0 FA| 1BRi&@09:05 F3h (FKAIEREEE)
10:05 140 100.0 PH| 1Ri%@10:05 Fzh (RAERES)
11:05 140 100.0 PR 1Ri&@11:05 F31 (REAERESE)
2it| 560.0 (4%) 400. 0 32053KEC: 2000.0, PH: 6.5

RE R B RECHIR TR K.
RER BB HREC/PHIEER K, FIRERIMIRELR SR



P3-8_0, Day=23 (2025-04-21)

] g g g e B S

V1, Vo,

75 -
45

50 A

25 A
00

,ET = VI, VO, FVI, EVO, FRV, ad jFRV, ET

Warning: lcol [FVI',| "FVO’'] missing

100 A

FRV (ml plant-1)
[42] ~
S &
1 1 }

N
()]
1

—_
o

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2300. 0, | TargetSetEC=2000. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.5

Warning: lcol ['PHB’,| 'PHC’'] missing

ET (ml/hr/plant)

By lnit @D2

02:48: ET=653 Fg=800.0 Ro=78.0

T
()]
o
(=}

7

20

21

22

23

4004 A [ FA

A

A

A

A

E3
B

ES
5]

300 -

200

ET (ml/hr/plant)

100 p—0—0——0—0—0—

®

1
()]
S
S

0 P——ap

23

4004 A [ FA

FA

A

A

A

FA

A

A

%=

300 -

200

ET (ml/hr/plant)

1.0 p—s—ap

100 p—e—o—lo—o—e—

I
ByWoFyv @D2q 02:48: ET=219 Fg=400. 0 Ro=0

T
()]
o
(=}

23

0l AT

A

A

A

FA

A

A

A

FA

INFR

PG

IINFR

FA

%=

0.6

0.4+

0.2~

0.0

300 A

| _obs

—@— PPFD_obs

20.0

17.5 A

15.0

12.5 4

10.0

80 ~

60

- 800

- 400 e

- 1000

- 1000

- 1000

L 600 =

d_

FRV (

M E ¥ 30.0
-27.5
- 25.0
-22.5

- 20.0

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



264 —@— ME
24
2| P Vg
ZO‘J
T T T T
500 600 700 800
251 Lo wu
21.0 A
20. 5
20.0
19.5 A I
T T T T
500 600 700 800

m=510, FV0=0

2251 o ME ./o—o—o"*o
22.0 -
21.5 1
21.0 -
20.5 -
20.0 -
®
T T T
510 515 520
m=510,m FV0=0
1930 gy
19. 28 -
19. 26 -
19. 24 -
19.22 -
19.201 0 o-o-o
T T T
510 515 520

m=660, FV0=0

25 A

24

23 A

22 -

—o— M_EM

T T
665 670

660
m=660,m FV0=0
—— MW
20.5 -
20.0 -
-0 00000000090
19.5
19.0
T T T
660 665 670

20.

20.

20.

20.

20.

m=810, FV0=0

261 "t N_*\—N_.
25 -
24 -
23 - »
T T T
810 815 820
m=810,m FV0=0
01 o mw
65 -
60 -
55 -
50 1 9-0-®
T T T
810 815 820




hour

100

6:50
7:50 80
9:10
- 60
10:15
- 40
11:15
13:45
1 1 1 1 _0
B &L B LB
S F S S




P3-8

BfiE) | BRI (FD) | EE (EH/AR) | XK R

06:50 140 100.0 =] {BRi%0@06:50 F3 (RFAERSE)
07:50 140 100.0 [ =| {Ri&e07:50 Fz1 (REAEESE)
09:10 140 100.0 FA| 1Bi&@09:10 F3h (KRAFEREE)
10:15 140 100.0 FA| 1Bi&@10:15 F3) (RAERESE)
11:15 140 100.0 PR 1Ri&@11:15 Fz1 (REAERSE)
12:20 140 100.0 PH| {Ri%e12:20 Fzi (RAERESE)
13:45 140 100.0 FH| 1Ri%e13:45 F&1 (REAERSE)
=23t| 980.0 (7% 700.0 3EGHKEC: 2000.0, PH: 6.5

REX 1 B AR ECHIE R Kk
REXR BB HEREC/PHEER K, 7T

VNN =A
BEFZ

MR R 56




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-8_0, Day=22 (2025-04-20)

100 Fmm——mSfp——————F——————F——————F——————F——————F-—————Fe—————F——— ===
VI, Vo, ,ET = VI, V0, FVI, EVO, FRV, adjFRV, ET 661 - 800
757 - 600
45 4585 _
50 1 - 400 £
=
25 1 - 200 &
00 Warning: lcol [FVI',| "FVO’'] missing 4 0
0 -0
1004 PRV —— ME p30.0
maxM | | 97 5
75
w
o0 | - 25.0 )
F22.5
25
-20.0
1.0
4
0. 8 A
0.6
0.4
0.2+
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2300. 0, | TargetSetEC=2000. 0 t
0.6
0.4
0.2+
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=6.5 N
0.6
0.4
0.2+
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
Bylnit @D2q 02:48: ET=777 Fg=800.0 Ro=98.0 t o
200 A | - 1000 &
: e e o N
I E
100 : - 500 —
=
1 S
o ——j0 & O | 3
0 p—ap——a _la PN E—— — 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
== E3 ES ES == E3 ES ES == E3 ES ES == E3 ES ES == E3 ES ES == E3 ES ES
R | B5 [ B | B | AR | A5 | A5 | B | BR [ HR B B B B B B B B B B B B B B )
200 ~ i i c
ByEt @22 18:41: ET=770 Fg=655.0 Ro=nan ! 1000 5
<
E
100 + - 500
L
5
p— o —& 6 ——&—6— ©
07 0 1 2 T 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
g | B | B | B | B | B|BI|Zz|z=| B | B | BB [ B | B | BB [ BB | A | B [ BB A [ B | BB | FA | BH o~
200 ~ i i c
ByWoFv @023 02:48: ET=661 Fg=700.0 Ro=60.0 1000 5
! z
100 : - 500 —
L
! 5
)—o—0—10—0—0— °
1.01 0 1 2I' 3 T 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
osl M5 | B |6 |5 |’ [BF | 5 (2= (%= | BA [ PH | FH | BA [ PH | BA | BA [ FH | BH | BA [ FH | BH | BH [ FH | BA
0.6
0.4
0.2+
0.0
1500 4 —_ M
[ ] | _obs
—@— PPFD obs
RH
RH_obs
RHo _obs




19.

19.

19.

19.

19.

19.

26 A

24

22 -

20 A

M_E

T
500

T
600

700
m=750,n FV0=0

T
800

25 A

24 -

23 A

22 -

——

M_E

750

765
m=600,n FV0=0

T
760

m=510, FV0=0

22.0 A

21.5 A

21.0 A

20.5 -

20. 0 -

19.5 -

——

M_E

510

5%5
m=810,n FV0=0

T
520

26

25 H

24 -

23 A

——

M_E

70

68

66

64

62

60 -

MW

600

605

610

19.

19.

19.

19.

19.

19.

810

815
m=660,n FV0=0

T
820

60 -

58 -

56

54 -

52 A

50 -

MW

660

665

670

m=600, FV0=0

24

23 -

22 A

M_E

600 605 610

20.0

19. 8 ~

19.6

19. 4 ~

M_W

T T T
600 700 800

m=750,m FV0=0

19. 40 -

19. 38 ~

19. 36

19. 34

19. 32 -

19. 30 ~ MW

750 755 760

20.

19.

19.

19.

19.

19.

19.

19.

19.

19.

19.

19.

m=660, FV0=0

26

25

24

23 A

——

M_E

T
660

665
m=510,n FV0=0

T
670

00 -

98 -

96

94 -

92

90

—0—

M_W

510

5%5
m=810,n FV0=0

T
520

50

48 -

46 -

44 -

42 -

40 -

—0—

M_W

810

815

820




hour

125

125

125

125

:35

100

80

- 60

- 40

§_

‘*@»
>
5
T
%



P3-8

BfiE) | BRI (D) | EE (EH/AR) | XK R

07:25 140 100.0 [ =| 1BRi%e07:25 F3h (kBEREEE)
08:20 140 100.0 (£ =| {Ri%e08:20 Fz (KR
09:15 140 100.0 (& =| 1B&iB@09:15 Fzh (REEFEE)
10:25 140 100.0 = {Rig@10:25 F31 (REAERSE)
11:25 140 100.0 =] BRi%ei11:25 F3 (GREAERSE)
12:25 140 100.0 =l {Rige12:25 Fz1 (RAEDSE)
13:25 140 100.0 E BRige13:25 Fa1 CGRAERESE)
14:35 140 100.0 = 1BRiBe14:35 Fz (GREAEESE)
=it 1120.0 (8%) 800. 0 32 3KEC: 1900.0, PH: 6.5

REX 1 B AR ECHIE R Kk
RER B HEREC/PHELERK, WRER

MEARBR TR




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-8_0, Day=21 (2025-04-19)

100 Fm—————F——————F-—————F-—————F——————F-—————F-—————F——————F——————F——————f——————f—————] i
VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 723 800
75 4 - 600 T
45541 4555 ©
50 - 400 E
=
25 - 200 w-
00 Warning: lcol [FVI',| "FVO’'] missing 8 0
0 -0
1004 PRV —— ME p30.0
. maxM L 57 5
50 - 25.0
o F22.5
o 20.0
' 4
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2300. 0,  TargetSetEC=1900. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=6.5 N
0.6 -
0.4 4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0
! 1500
Bylnit @D2q 02:48: ET=697 Fg=800.0 Ro=84.0 —
200 A 1 E
1 —_
1 - 1000 2
! & & & o =
] 1
100 : | 500 E
| 3
b o -& 1 e o ﬁ\
O_L____.ﬁﬁ_an___i. PY — 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 | 1500
BB | BH | BB | BB | BH | BE [ B [ BR | & | B B 5 5 5 B 5 5 5 B 5 5 5 B 5 o~
200 A ] c
ByEt @D21 18:41: ET=904 Fg=855.0 Ro=nan : _1000:§
I E
] 1
100 : | 500 E
>
o —& 06— & - ! 3
0 p—ap PN PN PN oy 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 | 1500
FH BH A FH EHERERAREA EREEEAES 5 5 5 i 5 EREREEAEEEEHR GHEES )
200 A } c
ByWoFv @DZq 02:48: ET=723 Fg=800.0 Ro=70.0 _1000-2
X
! —$—8 83 E
] 1
100 I - 500 o
’ 1 g
o —& 10— 6 0 & | 3
1.0 P PN :a- PN i 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
0.8 - FH BH A FH EHERERAREA EREEEAES 5 5 5 i 5 EREREEAEEEEHR GHEES
0.6 -
0.4 1
0.2 A
0.0
1500 — | N
| _obs
PPFD_obs
4
80
60 -
40 - Ri
[ ] RH_obs
(] RHo_obs
20

hour



27 A

26

25

24

23

22

M_E

660 760
m=750,n FV0=0

T
800

26

25 -

24 -

23

——

M_E

755
m=600,n FV0=0

750

T
760

—o— MW

26. 4
26. 2
26.0
25. 8 -
25.6

25. 4 -

600 605

610

m=510, FV0=0

25

24 4

23 A

22

——

M_E

510

5%5
m=810,n FV0=0

T
520

26

25 A

24

23 A

——

M_E

810

815
m=660,n FV0=0

T
820

26. 2

26.0 -

25. 8 -

25.6

25.4 -

25. 2 -

660

665

670

m=600, FV0=0

26 A

25 -

24 -

23 A

22 A

——

M_E

600 605

610

M_Ww

23

660 760
m=750,n FV0=0

T
500

T
800

24. 4

—— MW

24.2 -

24.0 -

23. 8

750 755

760

27.

27.

26.

26.

26.

26.

25.

m=660, FV0=0

27 A

26

25 -

24 -

23 -

——

M_E

T
660

665
m=510,m FV0=0

T
670

25 4

00 -

75 -

50

25 -

00 A

75 A

——

M_W

5%5
m=810,m FV0=0

T
520

23. 8 -

23.6

23. 4 -

23. 2 A

810

815

820




